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Instructions : (1) All questions in Section-I carry equal marks.
(2) Attempt any two questions in Section-I.

(3) Question-5 in Section-1I is compulsory.

SECTION-I

1. (A) Whatis Strategic Management ? Explain the process of strategic decision making.

(B) What is an objective ? Explain the characteristics of objective in detail.

2. (A) What is environmental scanning ? Explain the approaches to environmental
scanning.

(B) Explain the concept of Dynamics of internal environment.

3. (A) Explain the process of Strategic Choice in detail.
(B) Write short note on “Strategic Plan”.

4. (A) Whatis operating Control ? Explain the process of operating Control.
(B) Discuss the difference between strategic control and operational control.
SECTION-II

5. Choose the correct answer : (Any Five)

(1) The strategic management does not consider one of the following organisational

structure.
(a) Matrix Structure (b)  Product Structure
(c) Geographical Structure (d) Functional Structure
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(2) Which one of the following is not a view point of the business definition ?
(a) Customer group (b) Customer need

(c) Customer grievance (d) Attempt for customer satisfaction

(3) SWOT means .
(a) Small, Work, Option, Trade
(b)  Success, Worst, Option, Time
(c) Strength, Weakness, Opportunity, Threats
(d) Size, Wrong, Option, True

(4) Which is considered as economic event from the following ?
(a) Stability of government (b) Employment opportunities
(c) Change in fuel (d) Consumer Protection Act

(5) Which competitive factor is not included in Michael Porter’s model ?
(a) Powerful suppliers (b) Powerful customers

(c) Powerful products (d) Threat of new entry

(6) For which purpose the environmental scanning is useful ?
(a) Strategy formulation (b) Long-term planning
(c) Strategy implementation (d) All of the above

(7) The following is not a technique of corporate analysis.

(a) BCG Matrix (b)  GE nine cell matrix
(c) SWOT analysis (d) (a)and (b) both

(8) Which one of the following is a technique of strategic analysis ?
(a) Experience curve analysis (b) Competitor analysis
(c) Industrial analysis (d) All of the above

(9) In the case of geographical expansion and market segmentation, which type of
organisational structure is suitable ?

(a) Divisional structure (b) Functional structure

(c) Entrepreneurial structure (d) Matrix structure

(10) From the following, which is not an Operating Control System ?
(a) Budgetary control (b) Scheduling

(c) Production control (d) Key Success factors
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